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Topic:- CDP_P2_CTET

1)
Which stage of development is characterised by dealing with issues of finding one’s own identity
and abstract thinking ?

(1) Infancy

(2) Early childhood
(3) Middle childhood
(4)

4)  Adolescence
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[Question ID = 1][Question Description = S7_CDP_Q001]
1. 1 [Option ID = 1]

2. 2 [Option ID = 2]

3. 3 [Option ID = 3]

4. 4 [Option ID = 4]

2)
Which of the following statements given below is NOT correct about the principles of development ?
(1) Development follows particular sequence.

(2) Development follows differentiation and integrations.

(3) Development follows toe-to-head direction.

(4)

4 Development follows center-to-periphery direction.
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) The primary cause of individual differences in children is :
(1) Only genetic make up of the individual.
(2) Only the child rearing style of the parents.
(3) The complex interplay of heredity and environment.
(4) Only the physical environment of the child.
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[Question ID = 3][Question Description = S7_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4 Socialization is a :
(1) linear and fixed process

(2) simple and uni-dimensional process
(3) complex and multi-dimensional process
(4) rigid and universal process
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[Question ID = 4][Question Description = S7_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

?) Jean Piaget suggested that :
(1) childern think and learn differently from adults.
2) language facilitates the development of cognition.

(2)
(3) children thinking is quantitively different from that of adults.
(4) are born as blank slate and are unintelligent at birth.
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[Question ID = 5][Question Description = S7_CDP_Q005]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

® Which of the following is a correctly matched pair ?
(1) Infancy - 6 - 11 years

(2) Middle childhood - 2 - 6 years

(3) Formal operational stage - 11 years and above

(4)

oy

Pre-operational stage - birth till 2 years
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[Question ID = 6][Question Description = S7_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7 A major critique of Kohlberg's theory of moral development is that :
(1) It does not specify stages.

(2) It disregards the effect of cultural factors and gender on moral thinking.
(3) It uses participant observations of childern in naturalistic settings.
(4) It does not give a fixed sequence of moral development.
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[Question ID = 7][Question Description = S7_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]



4. 4 [Option ID = 28]

8 Lev Vygotsky believed that :
(1) Children passively reproduce what is presented to them.

(2) Children construct their own understanding by support from adults
(3) Children learn by associating stimulus with response.
(4) Children learn when presented with appropriate materialistic rewards.
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[Question ID = 8][Question Description = S7_CDP_Q008]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9)
In his theory of cognitive development, Lev Vygotsky gave a lot of importance to psychological
tools such as :

(1) language

(2) calenders

(3) calculators

(4) mobiles
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[Question ID = 9][Question Description = S7_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

9 In a progressive classroom :

(1) learning of childern is controlled by giving rewards and punishment.

(2) children are kept under strict watch and made to follow rigid curriculum.
(3) the approach of drill and repeated practice is followed to enable learning.
(4) ‘direct experience’ and ‘discussions’ are the basis for learning.
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[Question ID = 10][Question Description = S7_CDP_Q010]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)

Individuals who demonstrate are acutely aware of their feelings and can show an
appreciation for themselves.

(1)
2

Logico-mathematical intelligence
Bodily-kinaesthetic intelligence
Intrapersonal intelligence
Linguistic intelligence
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[Question ID = 11][Question Description = S7_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

Which of the following behaviours by teachers help to reduce gender stereotyping and discrimination

in children ?

(1) Asking only boys to pick up heavy furniture in class

(2) Giving toy dolls and houses to only girls

(3) Referring to care giving professions for women only

(4) Inculcating qualities autonomy and empathy in all genders
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[Question ID = 12][Question Description = S7_CDP_Q012]

1. 1 [Option ID = 45]

2. 2 [Option ID = 46]

3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)

Which perspective considers language to be an important tool that facilitates cognition ?
(1) Behaviouristic

(2) Information-processing

(3) Socio-cultural

(4) Psycho-dynamic
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[Question ID = 13][Question Description = S7_CDP_Q013]

1. 1 [Option ID = 49]

2. 2 [Option ID = 50]
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4. 4 [Option ID = 52]

14)
Which of the following is not an effective strategy to accommodate diversity in a classroom ?
(1) Finding out the student’s social and cultural context of the students

(2) Adapting pedagogy as per the students’ different backgrounds

(3) Providing a variety of examples that are meaningful to all students

(4)

4 Using a standard set of instructions and ignoring the background of learners
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[Question ID = 14][Question Description = S7_CDP_Q014]
1. 1 [Option ID = 53]



2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

13) Which of the following should characterise assessment for meaningful learning ?
(1) Standardised

(2) Comprehensive
(3) Formative
(4) Qualitative

T=fafea § 9 s1dqol s1firm & fag steker i faemmn = g+ =9rfeu ?
(1) W

(2) =uH
(3) THAHH
(4) TE

[Question ID = 15][Question Description = S7_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16)  Inclusive education involves :

(i)  provisioning a “barrier-free’ environment
(ii) separation of children based on their abilities

(i) identification and appropriate labelling of childern
(iv) flexibility of curricular experiences and pedagogical strategies
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[Question ID = 16][Question Description = S7_CDP_Q016]

1. 1 [Option ID = 61]
2. 2 [Option ID = 62]



3. 3 [Option ID = 63]

4. 4 [Option ID = 64]

'7) While interacting with a diverse group of students, a teacher should NOT :
(1) Encourage debates and discussions

(2) Reflect on her own biases and stereotypes

(3) Follow a uniform curriculum and standardised evaluation

(4)

4) Adopt the lecture method as the only pedagogical strategy
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[Question ID = 17][Question Description = S7_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)

Assertion (A) : A teacher should make provisions such as giving extra time for written tests and
provisioning for a varitey of materials other than books to support childern with
dyslexia.

Reason (R) : Children with dyslexia have difficulties in reading,

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 18][Question Description = S7_CDP_Q018]

1. 1 [Option ID = 69]
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3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19 Which of the following is an example of assistive technology to aid students in vision ?
(1) Headphone

(2) Picture based worksheet
(3) Braille system for reading and writing
(4) Hearing aid
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[Question ID = 19][Question Description = S7_CDP_Q019]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

200 Which of the following are typical indicators of creativity ?

(i) Curiosity

(i) Independence

(iii) Adaptability

(iv) High levels of concentration
(v) Need for repeated practice
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[Question ID = 20][Question Description = S7_CDP_Q020]

1. 1 [Option ID = 77]

2. 2 [Option ID = 78]

3. 3 [Option ID = 79]

4. 4 [Option ID = 80]

21)

Assertion (A) : For effective learning only the teachers should ask questions in the classroom and
not the children.

Reason (R) : Children learn most meaningfully through the process of passive listening.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 21][Question Description = S7_CDP_Q021]

1. 1 [Option ID = 81]

2. 2 [Option ID = 82]

3. 3 [Option ID = 83]

4. 4 [Option ID = 84]

22)

Assertion (A) : Teacher should provide adequate and appropriate scaffolding to the students as
and when needed.

Reason (R) : Learning is a collaborative process.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 22][Question Description = S7_CDP_Q022]

2. 2 [optin 10 - 86

3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) How should teachers view failure of students in an elementary school classroom ?
(1)  As a reflection of low abilities of the students

(2) As a reflection of low abilities of the teachers

(3) As a reflection of low abilities of the parents

(4)

4 As a reflection of functioning of the school as a system
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[Question ID = 23][Question Description = S7_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24)  Tn a socio-constructivist classroom learnjng s :

(1) Passive and individualistic
(2) Active and individualistic
(3) Active and social

(4) Passive and social
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[Question ID = 24][Question Description = S7_CDP_Q024]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)

In the problem is divided into a number of intermediate goals and then focus on solving
each sub-goal.

(1) Functional fixedness
(2) Algorithms

(3) Means-end analysis
(4) Response set

" ouen & #E guradl ) § faarfea e I g o TR e 3u-98T 9 B B W
¥4 higd foan siar 21

(1) EcHF few

(2) et fafy

(3) HHgA @e faveryo
)

(4

SR W=

[Question ID = 25][Question Description = S7_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26)

Assertion (A) : Teachers should disregard the mental well-being and emotional needs of children.
Reason (R) : Academic learning is not influenced by the emotional well-being of the child.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 26][Question Description = S7_CDP_Q026]
1. 1 [Option ID = 101]



2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]
") Learning should be facilitated :
(1) through meaningful discovery
(2) by promoting competitions among students
(3) by offering materialistic rewards
(4)

4 by using negative reinforcement
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[Question ID = 27][Question Description = S7_CDP_Q027]
1. 1 [Option ID = 105]

2. 2 [Option ID = 106]

3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) involves knowledge and awareness about self as a knower.

—

Metacognition
Assimilation
Accommodation
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[Question ID = 28][Question Description = S7_CDP_Q028]
1. 1 [Option ID = 109]

2. 2 [Option ID = 110]

3. 3 [Option ID = 111]

4. 4 [Option ID = 112]

29)

Teachers should believe that ability is and encourage students to set
(1) fixed; mastery-oriented goals

(2) fixed; performance-oriented goals

(3) improvable; mastery-oriented goals
(4)

4) improvable; performance-oriented goals
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1[Q:J<[egti<_>n |I|; =121‘;]][Question Description = S7_CDP_Q029]
2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

300 Which of these statements about motivation and learning is correct ?
(1) Learning is effective when the students are motivated to avoid punishment

(2) Learning is effective when the students have intrinsic motivation
(3) Learning is effective when the students are extrinsically motivation
(4) Motivation does not have any role to play in learning
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2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_P2_CTET

Y When we add 1 to the three digit greatest number, we get :

(1) A three - digit number with unit digit 1
(2) The four digit least number

(3) The four digit greatest number

(4) A four digit number with unit digit 9
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[Question ID = 31][Question Description = S7_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

? While teaching class VI students, teacher explains that :

6+4 = a whole number

6 x4 = a whole number

6/4 = Is not a whole number

Which property He/She discuss in this way ?
(1) Additive inverse property

(2) Multiplicative inverse property
(3) Closure property

(4) Associative property
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[Question ID = 32][Question Description = S7_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3)



The least number which can be written in the form of n (n+1) (n+2), where n is a natural
number is :

1) 5
(2) 6
3 7
(4) 3
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[Question ID = 33][Question Description = S7_Maths Content/Pedagogy_Q033]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

? If a number is divisible by two co-prime numbers, then it is also divisible by :

(1) their sum

(2) their difference
(3) their product
(4) sum of their squares

FIfe e & 8 Ue9na qens 9 favss 2, a1 9 e 9 off favsg Bt 7

(1) 3% 4m

(2) T A

(3) T UEEA
(4) 3 & & AN

[Question ID = 34][Question Description = S7_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]



3 _ i 2. . ) 1 _
If z of the difference of 2— and 1= is subtracted from — of 3—, the result is :

4 3 3 i
—48
(1) =3
48
2) =
=38
® =
83
@) s

qrazisﬂui—ammés%ﬁ siaa %ﬁﬁwaﬂ%a‘rmuﬁﬂm%:

—48
M 2
48
@ =
—-83
®)
83
@ 5

[Question ID = 35][Question Description = S7_Maths Content/Pedagogy_Q035]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

® Which of the following is a monomial ?
(1) 2x+7
(2) x+7
@) 2
(4) 3x2+2x+7



frefefad 5 | SH-H1 ThvE €7

1) 2x+7
(2) x+7
(3) 12

4) 3x%+2x+7

[Question ID = 36][Question Description = S7_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7)

The denominator of a rational number is greater than its numerator by 8. If the numerator

is increased by 17 and the denominator is decreased by 1, the number obtained is R
Then, the rational number is :

21
S T
13
(2 5
11
ST
17
“4) 55

el aftH e =1 &1 39k 39 9 8 Afuesr 81 Afe Si91 H 17wl gfg s & s qen &0 H 1 ol
aFell A ST, A wem S ¥, 7 v v #

21
M 33
13
2 37
11
T
17
@ 35

[Question ID = 37][Question Description = S7_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]



4. 4 [Option ID = 148]

8)

Income of Ramesh is ¥ 24,000 per month and that of Rahim is ¥ 3,83,040 per annum. If
monthly expenditure of each is ¥ 19,920 per month, then ratio of their savings (in the
same order) is :

(1) 8:25
2) 25:8
3) 50:17
4) 17:50

THY T A 37 T 24,000 T 991 WiH FH1 At 3 T 3,83,040 T 1 Afe 1 B ¥ goiE H
AT =99 T 19,920 &, 1 37! a=di 1 (3H A H) 9 ©

(1) 8:25
2 25:8
3) 50:17
(4) 17 :50

[Question ID = 38][Question Description = S7_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

9 s 5 ;
) Coefficient of z in the sum of x—y+xy, y+z—yz and z—x—zx is :

1 0

2) 1
G) 2
4 -2

X—y+xy, y+z—yz IR z—x—zx F AT H z W IOF ¥ :

(1) 0
(2) 1
(3) 2
4) -2

[Question ID = 39][Question Description = S7_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]



0 5 s
(y"—17y+60) (y"-9)
(y* —15y+36)

) (—5) (y+3)
) (Jf+5) (y+3)
3) (—5) (y—3)
(4) w+5) y—3)

is equal to:

(y —17y+60) (y -9) E"{IER%*
(y —15y+36)

1) =5 (y+3)
(2) (+3) (y+3)
) -3 (y—3)

(3
4) +3) (y=3)

[Question ID = 40][Question Description = S7_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]

2. 2 [Option ID = 158]

3. 3 [Option ID = 159]

4. 4 [Option ID = 160]

11)

The four angles of a quadrilateral are in the ratio 4 : 5: 3 : 6. The difference of the greatest
and the smallest angles of the quadrilateral is :

(1)  40°
2) 50°
(3) 30°
@) 60°

ToREi FGST oh = 10N 1 ST 4:5:3: 6 ¢ | TGy & ATeRRas SR a9 vl ol SR T

(1) 40°
) 50°
(3) 30°
4)  60°

[Question ID = 41][Question Description = S7_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]



12)

The number of degrees (°) in 4 % right angle is :

(1) 395
(2) 390
(3) 400
(4) 405

4 < el 4 fasf () 9 wen ¥

(1) 395
(2) 390
(3) 400
(4) 405
[Question ID = 42][Question Description = S7_Maths Content/Pedagogy_Q042]

1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13)
(1)
(2)
3

(4)

o

A Pythagorean triplet with smallest number 8 is :

6, 8, 10
8, 10, 12
8; 15, 17
8,9 10

ZIFaH H&A1 8 el Uk qeUriiE 5

(1)
(2)
(3)
(4)

[Question

6, 8, 10
8, 10, 12
8, 15, 17
8,9 10

ID = 43][Question Description = S7_Maths Content/Pedagogy_Q043]

1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14)



The two interior angles on the same side of a transversal formed by the intersection of two
parallel lines by it are x and 70°. Then, the value of 3x—30° is :

(1) 180°
(2) 240°
(3) 300°
@) 360°

2 HHiaR TEnal o U fade Tan & wiassed g 59 fodds v & U g SR ok o9 3fd: i x 3iR
70° €1 99, 3x—30° & HH & :

1) 180°
2) 240°
(3)  300°
4) 360°

[Question ID = 44][Question Description = S7_Maths Content/Pedagogy_Q044]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15)

P and S are two points lying on the same side of a line segment QR such that /PQS = 307,
/SQR = 40°, /SRP = 30° and /PRQ = 40°, Then,

(1) APQR = ASQR by SAS
(2) APQR=ASQR by ASA
(3) APOR = ASRQ by SAS
(4) A PQR=ASRQ by ASA

fordt Tam@e QR & U & @R < fig P 3in S 79 s feorg € 5% 2 PQS = 30°, /SQR = 40°,
/SRP = 30° 3i /PRQ = 40° & | 74,

(1) APQR=ASQR & SAS g1
(2) APQR=ASQR ¥, ASA g1
(3) APQR=ASRQ & SAS R

(4) A PQR=ASRQ¥E, ASA 51

[Question ID = 45][Question Description = S7_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

16)



The length of the largest rod that can be placed in a room 16 m long, 12 m broad and

2
105 m high is :
(1) 23 m
(2) 68m
2
3) 227 m
1
' 22—
@ 23 m

16 m 4, 12m 3 K 102 m 33 7 9 8 ) A = Telt T e s A A ¥

1) 2B m
2) 68m
(3) 22% m
(4) 22% m

[Question ID = 46][Question Description = S7_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)

Area of a thombus is 270 em2. If its diagonals are of x cm and 30 cm lengths, then the
value of 4x —8 is :

(1) 60
2) 64
3) 72
4) 80

Tordt TS o1 S9%e 270 em? ¥ 1 AfE STF Aol # daEdl x em 3 30 om €, A1 40 -8
FIHAE :

(1) 60
2) 64
3) 72
(4) 80

[Question ID = 47][Question Description = S7_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]



18)
Diameter of a circular garden is 28 m. Then, the cost (in ) of fencing the garden at the

22
rate of ¥ 300 per metre is (use : w = ?) :
(1) 26400
(2) 28400
(3) 27200
(4) 29600

fordt TR i< 1 S99 28 m 8 | 99 39 911 ok STfew T 300 Wfd Hex 1 &1 & 978 oI #1
T () ¥ (= > 1 T A

(1) 26400
(2) 28400
(3) 27200
(4) 29600

[Question ID = 48][Question Description = S7_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

19)

If mean of 10 numbers is 58 and one of the numbers is 40, then what is the mean of the
remaining nine numbers ?

(1) 18
2) 60
(3) 62
(4) 54

10 Sl o1 HIET 58 B 91 399 H Weh G140 21 99 A Hesi o Hieg @ § 2

(1) 18
2) 60
(3) 62
(4) 54

[Question ID = 49][Question Description = S7_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20)



A bag contains 7 blue, 4 red, 6 black and 3 white balls. A ball is drawn from this bag,
without looking into it. Then, probability of getting a black or a blue ball is :

10
M 3
1
2 3
13
(3) 20
14
@ 3

forelt 9t § 7 fiett, 4 @, 6 et 3R 3 Otk 7S €1 39 9 ° 9, fo ofw 3@, u e Fraret
S 8 | 9, ek hicil 91 Ush et 76 WH 814 i WIfgehdl € :

10
T s
1 39
, 1
( ) 20
g 2
@ 20
N 14
( ) 20
[Question ID = 50][Question Description = S7_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 197]

2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

21)
A student in class VIII states that :

“Since the diagonal of a parallelogram divides it into two equal triangles, so the formula for area of

1
triangle is equal to of 5 X (area of parallelogram).” Which one of the following most appropriately

describes the given situation ?
(1) Such arguments have no place in a mathematics classroom

(

2)
(3) Students generally formulate wrong ideas, hence arrive at wrong conclusions
(4)

Such discussions need to be encomaged in a mathematics classroom

The formulae need to be learnt and cannot be arrived at by such conjectures



e VIIL %1 Uk faanelf =ram 7 ¢
“oiifer eiarEgs @ fawl @ & sl § fawfSa w5 &, sufed By % dowa &1 99 €

%x(@lﬂfﬂ?ﬁﬂﬂﬂﬁm)"l < 7 frarfa =t Frafafaa § 9 29 @ 9ad sugew =ren 2 2

(1) T T &1 7o T e H HE W 6§

(2) U Tt N H TH ==isd 1 vieted S SEvEs §

(3) Tomnfed urr: o famm @ o § safe e freesl w age §

(4) I 1A HE h! AELHHA B, § 3 UH FHesigall I WG ug Al S el ©

[Question ID = 51][Question Description = S7_Maths Content/Pedagogy_Q051]
1. 1 [Option ID = 201]

2. 2 [Option ID = 202]

3. 3 [Option ID = 203]

4. 4 [Option ID = 204]

22)

In a class VIII mathematics class, while doing a group activity, students measure their heights and
then represent them first in the form of a pictograph, then in the form of tally marks and then as a
histogram. Mathematical learning theories of which of the following describes the transition of
students from one level to another ?

(A) Van Hieles

(B) Zoltan P. Dienes
(C) Jerome Bruner

(D) Ausubel

Choose the correct option.
(1) (A) and (D)

(2) Only (A)

(3) (B)and ()

(4) (C) and (D)



el VIIL 1 7o el H, T 59 framehemy &3 g, O6i 7 SS9 91dt AR yem 37 o e,
TR 3% freH o=l & g, aeqvsn siadat=a g fefua feean | Ffafea | 8 femes it sifims
fogia, famnfeli =1 T X ¥ T WX 9% UIOTHT i AT TR § 2

(A) 98

(B) Sireed 9t =g
(C) SIRH IR
(D) STdee

et fasrey 1 999 +ifaa .
(1) (A) ¥R (D)

(2) e (A)
(3) (B) 3 (O
4) (O 3R (D)

[Question ID = 52][Question Description = S7_Maths Content/Pedagogy_Q052]

1. 1 [Option ID = 205]

2. 2 [Option ID = 206]

3. 3 [Option ID = 207]

4. 4 [Option ID = 208]

23)
The sets of digits required to represent numbers in the Hindu - Arabic numeration system is :
(1) Set of all natural numbers

(2)  Set of all real numbers

(3) Infinite

(4) Finite

feg-owell sem vgfa o, Hensll & e &g ol &1 S 98 §, 9% il
(1) = UrRfas Semed %1 @ 9g=a

(2) = Al (TeTd) Hemel # T 9=

(3) otHd/ R

(4) uftfa

[Question ID = 53][Question Description = S7_Maths Content/Pedagogy_Q053]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

24)



Which among the following is a suitable activity in a constructivist Mathematics classroom ?
(1) Teacher explains a formula and demonstrates how to solve a problem

(2) Students individually solve similar type of problems after a model problem being solved by
the teacher

(3) Teacher asks the best student in the class to solve the problem on blackboard
(4) Teacher asks the students to discuss in groups the various ways to solve a given problem

Toret TamEmE! i &6t e § Frefalad 3 9 SiF-91 T Suge frarram 82

(1) Torers us g3 w0z © ol =% foam & & 59 ven v v ga forn = @

(2) Toers 50 T TEY U 8@ F1 & Tva faeneff safEnd w9 9§96 UHR i 99 59 S §
(3) Toers wen & 3ow faenedt i vamYze W e g6 F & fag wea
(

4y o fomnfeli o wugl # forelt § 78 awen &1 ga & & fafi= oliel W ==t o & foe s
g

[Question ID = 54][Question Description = S7_Maths Content/Pedagogy_Q054]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

2% Rangoli as a teaching aid helps in understanding of
(1) Symmetry and Trigonometry

(2) Symmetry and Tessellation
(3) Tessellation and Volume
(4) Measurement and Volume
Toregor |1e/ (|reft) & &9 et %! HYFH H HEHA 6

(1) Tmfafa 3R et

2) wTmfafa siv Swdierem/eRfen

(3) eI/ 2T SR A

(4) =Y AR A
[Question ID = 55][Question Description = S7_Maths Content/Pedagogy_Q055]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]

3. 3 [Option ID = 219]
4. 4 [Option ID = 220]



26) A mathematics teacher solves the equation as :

244+ x =13
r=T13—-24
xr=-11

The teacher is making use of which of the following concepts ?
(1) Inverse ratio

(2) Transposition

(3) Juxtaposition

(4) Additive Identity

oI o Uek e 3 WHIE 39 YHR B (oA
24+x=13

x=13-24

= =11

Trefafad § 9 g e &1 39 frfees = @ e ?

(1) SAhHITH
(2) TEiE

(3) wf=uH

(4) AT HeEfHER

[Question ID = 56][Question Description = S7_Maths Content/Pedagogy_Q056]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

27)

While teaching in a class a mathematics teacher asks his students “Take any two numbers in such
a way that dividing the larger number by smaller number will give quotient as 4.” Such
questions :

(1) Confuse the students

(2) Being open - ended develop critical thinking skills

(3) Should be discouraged as they produce many answers

(4) Cannot be solved by students

ey B e e gy, iU % weh fews 3 o faenfeiEi | gm, R o § dend 3n veen wife e
TS TEAT I BIE W& H UF A R UETRA 4 21 TH W

(1) faenfefar =1 sradsg § s €

(2) G- 9 Y¥A EF % w0 qehd fHaa see o fasr e €
(3) I EEcHITEd AT AIfET Fifh T8 %2 I Io9 HAd ©

(4) femnfefal gr get =21 ford <1 Hed

[Question ID = 57][Question Description = S7_Maths Content/Pedagogy_Q057]



1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

28)

Mathematical thinking among children can be developed through the process of :

(1) Precise and accurate measurement

(2) Estimation and approximation

(3) Memorisation of formulae and methods
)

(4) Practicing standard algorithms

I gfsan & gR = § ot foas 1 fasm 31 s 21
1) uftgs ud Wi a9
) STAM AR HiThRT
(3) I iR fafed @ e w e
(4) WM® wed fafy & e

[Question ID = 58][Question Description = S7_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

29)
A mathematics teacher is observing students working in a group. His observation is focussed on

collaboration and co-operation in the group, concentration and interest of each student, and
participation of individual student in the activity. Through this activity, he is :

(1) using formative assessment to assess the students

(2) using summative assessment to assess the students
(3) giving training to the students to work in groups
(4) giving training to the students in life skills

TfoTd = U e e H F wd gu faenf @ e o @ § ) SHE STdeie 39 R #,
T B wedn S g W g faenedt % wam wd s w, i famet o safama aniterd w Sfea &
59 framrery & g, 98 ¢

(1) Teenfef=i =1 sfree & feru TaTeneh STreher o1 AT T %@ ©

(2) Taenferi =61 it % fore Fmees sTeer &1 S9ANT X W@ ¥

(3) Toenfefal 1 ggei § #ef #03 # ufwem © w @

4) feenfefai = Sam—sroed o wfam S w g

1[Q1u<[egti9n |I|; =253'§]][Question Description = S7_Maths Content/Pedagogy_Q059]

2. 2 [Option ID = 234]

3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

30)



In order to teach the measure of central tendency, the most necessary prerequisite knowledge for
learners is :

(1) Formulae of various central tendencies

(2) Idea of given data as numerical data
(3) Definitions of mean, mode and median
(4) Use of central tendencies in real life

siferTHeRdiel 1 e qafe o A9 # qgH & fore sifq srervess qafafad 99 @ -
(1) fafs= gz ygfedi & 43

(2) feu T SRS (Swn) 1 Henws Swel H e S

(3) LA, AR ST WA hi gfLuTeTd

(4) STfes SE H higd ygi| w1 S

[Question ID = 60][Question Description = S7_Maths Content/Pedagogy_Q060]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- SCIENCE_P2_CTET

) For which of the following, ultrasonic sound waves cannot be used ?
(1) In physiotherapic treatment of joint pains, arthritis

(2) Sterilisation of surgical instruments

(3) Estimating the depth of ocean

(4)

4 Testing the functienjng of human ear.

Frefafed 9 9 forme fau vugen =t 7@ %1 3wEn =8 T 51 gea ?
(1) el % <, nifean & siifaer fafeen soms 8§

(2) VIoTE IUHLUN ok oA H

(3) HETHFT hi TEUS % I H

(4) TFE F % FE F §" w5 G

[Question ID = 61][Question Description = S7_Science_Q061]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]



2 Read the following statement and choose the correct option :
Assertion (A) It is easy to slide a lighter object than a heavier object.
Reason (R) : Friction is inversely proportional to the mass of the object.
(1) Both (A) and (R) are correct and (R) is correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not correct explanation of (A)
(3) (A) is correct but (R) is incorrect
(4) Both (A) and (R) are incorrect

Frefafad el @i ufed oiv @&t fashey 1 =2 whifs

srfirere (A) :  foredl Tl g Y oTden goeh! g ) T STHH 2
IO (R) : =901 %] o GeAHM 1 SFEhHIuw ¢ |

(1) (A) 37 (R) S @&l € 3R (A) 1 (R) Gt s4men @i 2

(2)  (A) 3R (R) 3 Tl § formg (A) 1 (R) T e T80 et 2|

(3) (A) 5@ € forg (R) Terd B

(4)  (A) 3T (R) 2HT Terq €1

[Question ID = 62][Question Description = S7_Science_Q062]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3 Which of the following places is likely to have the least atmospheric pressure ?
(1) Chennai
(2) Leh
(3) Kota
(4) Shimla

Frefafed § 9 fore ®R W agHEed @ FHeas 814 1 e 872
(1) =%

(2) WE
(3) I
(4) Temen

[Question ID = 63][Question Description = S7_Science_Q063]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4)



Which of the following statements is true ?

(1) External fertilisation takes place in asexual reproduction

(2) All plants reproduce by asexual reproduction where as animals by sexual reproduction
(3) Viviparous organisms produce unfertilized eggs

(4) Inall viviparous organisms external fertilisation takes place

Frefafeg & & =9 @1 97 99 §2

(1)  3Fcifirer gra o sl fAo=m S 21

(2) |t 9 ST Wi, S 9] ST Jor gR1 S i ©
(3) Hsiays St Affad sfg 3e=1 & B

(4) gt Tsiayses Sl H, s e g9 da

[Question ID = 64][Question Description = S7_Science_Q064]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5)
Which of the following materials is best suited to make a coil (heating element) of an electric
heater ?

Material Melting point Resistivity

W Low Low
X Low High
Y High Low
7 High High

EEEE
N < X =

Frefafes § & % @ e v foea det & Fea (avA a) & Fmi & fa geifas suge 22

Tared T ioh gfeterahar
W = =
% = =
Y = =
Z Eic| =

(1 w

(2 X

3) Y

(4 Z

[Question ID = 65][Question Description = S7_Science_Q065]



1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]
6} Choose the correct option :
Assertion (A) The muscle cells are long and thin in shape.
Reason (R) : This helps in expanding and contracting.
(1) Both (A) and (R) are true and (R) is correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not correct explanation of (A)
(3)  (A) is true but (R) is false
(4) Both (A) and (R) are false

HeY fererey gfu

TR (A) : TR FITIERIT SRR § el e qae Sl € |

T (R) : 309 foeamor v W= o e 2l €

(1) (A) 3R (R) S 9 € 3 (A) T (R) & = & €1

(2) (A) 2R (R) 31 91 § o (A) T (R) G&T =3men 78 w2
(3) ()& 7 A (R) 318 €1

(4) (A) FR (R) SHT 79 )

1[Q:u[ecs;l:'tci;or:1 |||; =266?]][Question Description = S7_Science_Q066]

2. 2 [Option ID - 262]

3. 3 [Option 1D - 263]

4. 4 [Option ID = 264]

7)

The distance between an object and its image on a plane mirror is 10 cm. The object is moved
forward ie., towards mirror by 2 em. What is the distance between mirror and image now ?

(1) 8cm
(2) 3 cm
(3) 12cm
(4) 5cam

foreit wwaer <Uo & |ue U foi e suek wfdfss & s i gl 10 9. 7)1 o g R oiw 2 FH
s foram ) o oiR wfafsis o e &t b e femet &t 2

(1) 8 §Hl.
(2) 3 HHL
(3) 12 94l
(4) 5 HHl.

[Question ID = 67][Question Description = S7_Science_Q067]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]



4. 4 [Option ID = 268]

8)

Two carbon electrodes are placed in a copper sulphate solution in a beaker. The electrodes are
connected to the battery and electric current is allowed to pass. Which of the following observations
will take place after few minutes ?

) Bubbles are formed at positive electrode/anode.
B) Copper is deposited on the cathode (negative electrode).
C) Bubbles are formed at cathode.

(A

(

(©)

(D) Copper is deposited at anode.
(1) Both (A) and (B)

(2) Both (C) and (D)

(3) Only (B)

(4 Only (D)

forelt sfier , o wethe faoam ¥ € e woreis e MU goEre Sed ¥ waAfva € oiR fam um
yarfed @t 781 Fo o % yvem Freafefag § 9 s 9 deor g2
(A)  HATHF TAHRIES/TAE T FATA a1l |
(B) Helrs (FHUIRHS SeiaRre) WX ot et gemi
(C) el R garaet o |
(D) THTE TR e g
(1) (A) IR (B) T
(2) (O) ¥R (D) =i
(3) 9 (B)
(4 % (D)
1[.Q:J([e;:t?or:1 |I|; ==266§]][Question Description = S7_Science_Q068]
2. 2 [Option ID = 270]

3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

) Which of the following statements is not true regarding thunderstorms ?
(1) Thunderstorms usually take place in hot and humid areas
In thunderstorms, rains are accompained by high speed winds and lightening

(2)
(3) Thunderstorms can become cyclones
(4) The speed of winds in thunderstorms is more than that in cyclones



afed genetl % Feuf ¥ frfafas § § =i o % 7 =i 82
(1) afed gien w: T ue on & § S B
(2) fed gigneli 4, a1 nifd warl ws fosrell st == % e e g 8
(3) dfed sien =shama H wfafdd &1 gerd €1
(4) dfeq genell & ys=i 1 1fa =skardi i srien sifers 2t 2
[Question ID = 69][Question Description = S7_Science_Q069]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]
19 Choose the correct set of options :

(A) Regions that are geologically more prone to earthquakes
(B) The point where seismic waves originate
(C) The point vertically above the origin of seismic waves
(A), (B), and (C) respectively are :
(
(
(
(

1) Seismic focus, epicentre, seismic zone

2)  Seismic zone, seismic focus, epicentre

3) Seismic zone, epicentre, seismic focus

4) Epicentre, seismic focus, seismic zone
ool =1 wél wg== 9 :

INERERE R liceakae kR e e e
B) o faig Sel et a4l Sea 2l
C) Rl I % Sgue W e foyg

)

[Question ID = 70][Question Description = S7_Science_Q070]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11)



A car moves with a speed of 60 km/h for the first half an hour and with a speed of 45 km/h in the
next half an hour. What is the total distance covered by the car ?

(1) 55 km
(2) 525 km
(3) 105 km
(4) 15 km

g 3718 5 H U FR 60 km/hr 1 =1 &, 3R 77t 218 5 H 45 kmn/hr F1 I 9 fd S § HRGRT
T T Fel g femel &2

(1) 535 km
(2) 525 km
(3) 105 km
(4) 15 km

[Question ID = 71][Question Description = S7_Science_Q071]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12)

‘A" displaces ‘B’ and ‘C" from their salt solutions but when put in salt solution of D, there is no
reaction. ‘B’ displaces ‘C” from its salt solution.

The second most reactive metal is :

(H  (B)
(2 (A)
3 (©
(4) Information not sufficient

‘B SRC T ‘A 3R et Tl § fomenfad s & fofmg <9 38 D % @i faee § S o €,
e wh1E AffsRan & St 1 'C R B 36k e faerad & ferenfua s €

(1) B
2 A
3) C
(4) G TG A R

[Question ID = 72][Question Description = S7_Science_Q072]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13)



Vaccination is a process of immunisation i.e. developing immunity of a person against a particular
disease. Which of the following statements is true regarding vaccines ?

(A)

E e NEndg N

e T e T o TR N e T e I e
L e e

A vaccine is a live or attenuated germ

A vaccine produces antibodies in the body against specific disease
Vaccines are available for human beings only

Vaccines contain antibiotics which kill germs

Vaccines are effective against only viral diseases

(A) and (B)

(B) and (C)

(C) and (D)
(D) and (E)

TR0 (SEeE) wiaeeror =1 wes fafy g, ofh fordt =afem o uen fafere 3m 3 o wforen sea=1 =)
it & deof ¥ fefafag ¥ & o 3 s w68 €2

(A)
(B)
(©)
(D)
(E)
(1
(
(
(

R

)
)
3)
4)

ik () Uk Shifae =1 eftor sfam §)

e, (S e Tafere I % faeg Irmfaenes S e §
21 (5 et TEl % o Suersy ¥

&Rl () F witsiees g § S S w1 AR Sd § |

2k (SodA) hae foury) g1 3c0= Wi & foeg wee €1

[Question ID = 73][Question Description = S7_Science_Q073]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14)



Nylon is used to make parachutes. Which of the following properties of Nylon makes it suitable
for this purpose ?

Itis light

It is strong

It is elastic

It is fire resistant
It is shiny

It is wrinkle free
(A), (B), (D)
(4), (B), (©)
(©), (D), (E)
(B), (©), (F)

eI

i T s e T SR S N e B e T e
3 l—"T.lE

= )
p — o — S p— o

et e & feio 5 ygea a8 1 Frefatea § 9 e & e 8 e 9 39 35 & ol suges
FACE ?

(A) FBEAFIEI

(B) I A B

(C) Z@aAAE

(D) I Iflet g1
(E) o8 9I9sheR T
(F) =% feer 9% %)
(1) (A), (B), (D)
(2 (A, B), ©)
(3 (©). (D). (B)
(4 (B), (O (B
1[.Q1u<[a;::>1t?or:1 |||; :;:}][Question Description = S7_Science_Q074]

2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15)

Choose the correct option :

Assertion (A) Liquid carbon dioxide is used in fire extinguishers.

Reason (R) : Carbon dioxide is lighter than oxygen and hence cuts off the oxygen supply.

(1) Both (A) and (R) are true and (R) is correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not correct explanation of (A)
(3) (A)is true and (R) is false

(4) Both (A) and (R) are false



e forerey FHT :

feReE (A) :  SfITHER § g9 e SRAEEES 1 STErT 2 ¢ |

e (R) : STierTST ¥ ShTeH STESaIES Beeh! & SiR siferdis i emyfd H sufer sraum Sed 21
(1) (A) 3R (R) 41 @&l € 3R (A) 7 (R) 9t ==men +w 2

(2) (A) 3R (R) SH T € fohg (A) Y (R) TEt AT Tél T 2

(3) (A) 9 g 9 (R) Ted 2|

(4) (A) 3R (R) SHT Towe &

1[Q:.1?cs)tit¢?n |||; =£]][Question Description = S7_Science_Q075]

2. 2 [Option ID - 298]

3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

1) Which of the following statements regarding Bacteria are true ?
(A) They help in breakdown of cellulose in herbivores

(B) They aid in digestion process in human beings

(C) They are used in production of antibiotics

(D) They are in preparation of cakes

(E)' They are used in preparation of alcohol

(F) They are used in breakdown of organic matter in biogas plant
(1) (A) (B), (D), (E)

(2 (A) (B) (©Q, F)

(3)  (B), (©) (D), (F)

4 (A) Q). D) (B)

Stamupeti % e § Fefafeq 4 R @ Fm a3 87
(A) & Pl § Sgae & fawes § weg & €

(B) & wr=al # ureH ik # weg ¥

(C) 3 wfesfrary & Seqre § W 2 ¥ |

(D) 3 FF a9 5 TR T 2 |

(E) ¥ UhIgd 9 H W 21d & |

(F) & =g wos ¥ Sifaes were & fases % fo wgea @) €
(1) (A) (B). (D), (E)

(2)  (A) (B), (©), (F)

(3) (B), (O, (D), (F)

) (A), (C), (D), (E)

[Question ID = 76][Question Description = S7_Science_Q076]

1. 1 [Option ID = 301]

2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]



) Salt is used as a preservative in pickles because it :
(1) Provides acidic environment to kill microorganisms
(2) Reduces moisture content which inhibits the growth of microorganisms
(3) Cuts off air so that microorganisms cannot enter
(4) Contains chemicals which kill microorganisms

SR} T T &1 39En Ui % w9 § el © i

(1) =% Yeasifadl =i GaTd A o fou eTefla sfawen S0 3l 2

(2) % AT o W S = e § o gesiifad 1 gfg # deua g g1

(3) @ AT W1 STaIH Scq=1 hidl & TSTEd FEHsiel Jor T8l o uId |

(4) =O9 U WA  E S gamsifadl | R e B |

[Question ID = 77][Question Description = S7_Science_Q077]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

') Two uncharged bodies X and Y are rubbed against each other. X and Y acquire :
(1) equal and similar charge
(2) equal and opposite charge
(3) unequal and similar charge
(4) unequal and opposite charge

3 fuafE fUel X SR Y =1 =19y H U g6 9 el ™0

X 8 Y Suifsfa =i

(1) HH9H Td G e

(2) WAM @ fodE s

(3) STHHM T HSIE e

(4) 3rEaH Ug faemdm smEw
[Question ID = 78][Question Description = S7_Science_Q078]
1.1 [Option ID = 309]

2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]



19 Blood cell Features

A Disc shaped

B Changes shapes

C Helps in clotting of blood
Identify the blood cells :

(1) A -Red blood cell, B - Platelets, C - White blood cells
(2) A -Red blood cells, B - White blood cells, C - Platelets
(3) A - White blood cells, B - Platelets, C - RBCs

(4) A -WBGCs, B-RBCs, C - Platelets

Yo ShITTeRT weTOT
A fetr =1 3R
B SHR FEeTdl &
C T % Whed T Heg Hl ©

(1) A - AT T IR, B - WiRered, C - ¥ad TR e
(2) A - I T IR, B - & T IR, C - ©ideied
(3) A -3dd T R, B - ©ieeied, C - RBC's

(4) A -WBCs, B-RBCs, C - wiZeizd

[Question ID = 79][Question Description = S7_Science_Q079]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

20)

The temperature of water in a large container is 50°C. Anita fills this water in a 250 mL beaker (A)
and 750 mL beaker (B) (upto brim). Which of the following statements are correct ?

(A) The temperature of water in (A) and (B) is same

(B) The amount of heat in (A) and (B) is same

(C) The temperature of water in (A) is less than that of water in (B)
(D) The amount of heat in water in (A) is less than that of in (B)

(1) (A)and (B)

(2 (A)and (D)

(3) (O and (B)

(4) (O and (D)



forell oIS WS § Sl 1 A9EE 50°C B | STAG1 7 6 S I 250 ml #F #E (A) 3R 750 ml % =R (B) H
SR e W | Frefafed § & s @ we gd 22

(A) (A)aifr{( ) § et S AT9HE TF HHE T

(B) (A) I (B) H oA Y WA TH GHF 2 |

(C) (A) H /& %1 AM9HM (B) % W&l & a9HH ¥ fe ¥
(D) (A) T 5eT T SO ! T (B) i STemHd F11 €1
(1) (A) TR (B)

(2) (A) 3R (D)

(3) (O ¥R (B)

(4 (O MW (D)

[Question ID = 80][Question Description = S7_Science_Q080]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

21)

In order to promote problem solving skills in learners, it is important that they are given
opportunities to :

(1) Perform experiments in the manner presented only in the textbooks
2

(2
(3) Take extra classes in Science
(4)

Discover concepts through exploration

Learn through advanced softwares

stfepmreratell § T GoYH e # OdEd oF & ol 98 Ty § fF 3% U o wer feu S
foad 4
(1) <had YreagEdenl H e garn 1 s = |

(2) T R WY i @il L U |
(3) fomm =t erfafie wemd o
(4) equedl ik (FiveeaeR) 9l g i |

[Question ID = 81][Question Description = S7_Science_Q081]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

22)



‘Observation’ is a very important process skill in science. Which of the following statements are
true regarding ‘observing’ in science

(A) Itinvolves only ‘seeing” with eyes

(B) It helps in gathering first hand information
(C) It is unbiased and objective

(D) Itinvolves only describing ‘what it is’

(E) It may need sophisticated instruments

(1) (B), (D), E)

(2 (A) (B), (©)

(3 (4), ©) D)

4 (B (©) D)

fomm # * srarcieRa’ we f weayyl wftha e €1 foem # oA’ & e | fre d | @ W wen
T 772

(A) I8 T3 5 Fad ‘3@’ F wE B

(B) % WM WeIe AT Tl Thd & H HEg hidl ¢ |

(C) e Froval wd =g €

(D) =HH Haa ‘IE F1 T’ F T MEA € |

(E) 9% foru uftepa Sushvll st Savaerdl &1 Hehdl 81

(

(

(

1) (B), (D), (E)

2) (&) (B) (O

3 (A) ©), (D)

4 (B) (©), (D)
[Question ID = 82][Question Description = S7_Science_Q082]
1. 1 [Option ID = 325]

2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

23) Which of the following statements regarding scientific knowledge is true ?
(1)  Scientific knowledge is subject to periodical revision in the light of new evidence
( Scientific knowledge is not influenced by culture
(3) Scientific knowledge is objective and unbiased
(4) Scientific knowledge focuses only on finding solutions to present problems

e 8 § &1 1 FoF a9t 79 F wel H aw §7

(1) 3 I 1 T g9 % R H g-HEg R RE R e
(2) SR I HEHf g ged T8 8 |

(3) Sfes F aEgTe TE frege 7

(4) S T HEA TAHH FHEAS H GHEE GeH W R g



[Question ID = 83][Question Description = S7_Science_Q083]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

24)
In a science classroom with students having a diverse learning profiles, a teacher needs to :

(1) Do ability grouping within classroom

(2) Use differentiated instruction and assessment

(3) Use standardised assessment for parity and objectivity
(4) Use extensive technology

fafay sfirm dferdi & femnfeidi & foreht famm wamre o faes =1 =feu & -
(1) ey | Araal sTHid 998 J9

(2) faferdiga fde wa Heie &1 SwEr #Y

(3) EWRdl s aEgiedl o [ A Hedishd 1 STERT

(4) =AY YRRt 1 ST

[Question ID = 84][Question Description = S7_Science_Q084]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

25)
In order to develop rational thinking a science teacher may adopt the following practices except :

(1) Avoid discussing controversial socio-scientific issues

(2) Ask students to look for cause-effect relationships

(3) Encourage scepticism

(4) Encourage students to consult reliable scientific literature

igwma fea =1 fom 37 F 3899 T fagm &1 s1oaes f= gl =) o1oen wahe © foam w &, s
e:

(1) faaereg amifss-amf faedi 4 [ ©

(2) SE S FRU-FIE GeEl h Grer & fad w

(3) eEERE H UEE |

(4) BEl = v faam aifee =1 3e # o deafed &

[Question ID = 85][Question Description = S7_Science_Q085]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

26)



While teaching the topic “Electricity’, a teacher noticed that some students have misconceptions
regarding flow of electricity. In this context, the teacher should :

(1) Ignore these ideas as erroneous
2

(2)
(3) Address these ideas using alternate strategies
(4)

Point out the incorrect ideas and give correct concepts

Avoid teaching the topic as it is creating confusion

“ferger mr’ fere o1 sveAToe A g O s S urn for e farenfeli st feregd um % were & el § g
e € 1 5| Gael § fonersr =1

(1) 3 foarl = wifuol 79 o ereir & ey |

(2) rerd e @ gfiTd S =ifeT e wE fa=r o SarE =iee )

(3) foshedt drsmnsdi g1 24 fa=mdl ol Hatfere e =fey |

(4) fawa @ e 1 9iter s =ifee s a7 gfaun e o @ 2

[Question ID = 86][Question Description = S7_Science_Q086]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

27) Which of the following involves metacognition ?
(1) repeating the prescribed steps of experiment
(2) recalling the text-book definition of concepts
(3) reflecting on one’s own strategy in a project
(4)

4) reading advanced scientific literature on a particular topic

e 9 & e sty =1 swafted w5 €2

(1) wEm % freffa =il 6 <eem

(2) TSl ! STgEIh IHTHIET sl STER Al
(3) Tordll afrsn | w=d ol WiHid W fa=m e

(4) Tl we fordm g W e fagm wifes ge

[Question ID = 87][Question Description = S7_Science_Q087]

1. 1 [Option ID = 345]

2. 2 [Option ID = 346]

3. 3 [Option ID = 347]

4. 4 [Option ID = 348]

28)
Which of the following strategies constitutes a gender responsive pedagogy in Science ?
(1) Giving more opportunity to girls
(2) Using gender sensitive resources in classroom
(3) Arranging separate remedial classes for boys and girls
(4) Grouping on the basis of gender



=1 F & FF ot wrifa fagm § we fein gogm femn deenfug =t €2
(1) SRl &1 Al HATE YSH HAl

(2) werree | e Hedt HHrEE o1 39En HE
(3) =Tl iR SifereRel % fo e guR wenell i e H
(4) T smenfid |oE sHmAT

[Question ID = 88][Question Description = S7_Science_Q088]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

29)

Assertion (A) : Historical context of the concepts in science should be presented in text
books.

Reason (R) § It promotes students” understanding of science as social enterprise.

(1) Both (A) and (R) are true and (R) is correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

feRed (A) . faam # deheaiei & Ufaeifie gt urea qeaehl § faemm gF =nfen )

HTT (R) : 7% fadF &1 U A Yoo o ®9 H HUEH i D1 F 99 FI ieaied H g |
(1) (A) 3R (R) €1 & § 3l (A) I W&l =@ (R) Fr g

(2)  (A) @it (R) 3 Tl € AfF (A) F T =R (R) A |

(3) (A)THA & fhA (R) 37189 B |

(4) (A) 3R (R) TFI &9 1

1[Q:.1?cs)tit¢?n |I|; =3853]][Question Description = S7_Science_Q089]

2. 2 [Option ID - 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

39 In a constructivist Science classroom, understanding of concepts is :
(1) Constructed by learners
(2) Received by learners
(3) Reproduced by learners
(4

Recalled by learners



ek ToFIcHo o Shalehel | Hehodaisl &l 99
(1) siftrmeRTie gr fafda St 81

(2) RIS R WA T S 8

(3) eifermHeRTIel g YTECIfed i ST ¢
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[Question ID = 90][Question Description = S7_Science_Q090]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P2_CTET

1)
Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options.

The term ‘The Green Revolution” has beenused by the popular press to describe the spectacular
increase in cereal - grain production during the past years. Perhaps the term ‘green revolution’. as
commonly used is premature, too optimistic, or too broad in scope. Too often it seems to convey
the impression of a green revolution in yields per hectare and in total production of all crops
throughout vast areas comprising many countries. Sometimes it also implies that all farmers are
uniformly benefited by the breakthrough in production.

These implications both oversimplify and distort the facts. The only crops which have been
appreciably affected upto the present time are wheat, rice and maize. Yields of their important
cereals, such as sorghums, millets and barley, have been only slightly affected ; nor has there been
any appreciable increase in yield or production of the pulses or legume crops which are essential in
the diets of cereal - consuming populations. Morever it must be emphasized that thus far the great
increase in production has been in irrigated areas. Nor have all cereal farmers in the irrigated areas
adopted and benefited from the use of the new seeds and the technology. Nevertheless, the number
of farmers small as well as large who are adopting the new seeds and new technology is increasing
very rapidly, and the increase in numbers during the past has been phenomenal. Cereal production
in the rainted areas still remains relatively unaffected by the impact of the green revolution, but
significant change and progress are now becoming evident in several countries.

Despite these qua]jﬁcations, however tremendous progress has been made in increasing cereal
production in India, Pakistan, and the Philippines during the past. Other countries that are beginning
to show significant increase in production include Afghanistan, Sri Lanka, Indonesia, Iran, Kenya
and Thailand. There are other countries like Tunisia and Turkey who have witnessed great increase
in production.

The author thinks that the term “The Green Revolution” is not really appropriate because :
(1) it often implies some changes which have not taken place.

(2)
(3) only farmers have benefited from it.
4)

(

[Question ID = 151][Question Description = S7_English Content/Pedagogy_Q091]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]

there has been no revolutionary increase in the production of food grains other than wheat.

it is relevant only to the developing countries.



2)
Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options.

The term ‘The Green Revolution” has beenused by the popular press to describe the spectacular
increase in cereal - grain production during the past years. Perhaps the term “green revolution’. as
commonly used is premature, too optimistic, or too broad in scope. Too often it seems to convey
the impression of a green revolution in yields per hectare and in total production of all crops
throughout vast areas comprising many countries. Sometimes it also implies that all farmers are
uniformly benefited by the breakthrough in production.

These implications both oversimplify and distort the facts. The only crops which have been
appreciably affected upto the present time are wheat, rice and maize. Yields of their important
cereals, such as sorghums, millets and barley, have been only slightly affected ; nor has there been
any appreciable increase in yield or production of the pulses or legume crops which are essential in
the diets of cereal - consuming populations. Morever it must be emphasized that thus far the great
increase in production has been in irrigated areas. Nor have all cereal farmers in the irrigated areas
adopted and benefited from the use of the new seeds and the technology. Nevertheless, the number
of farmers small as well as large who are adopting the new seeds and new technology is increasing
very rapidly, and the increase in numbers during the past has been phenomenal. Cereal pmduction
in the rainted areas still remains relatively unaffected by the impact of the green revolution, but
significant change and progress are now becoming evident in several countries.

Despite these qua]jﬁcations, however tremendous progress has been made in increasing cereal
production in India, Pakistan, and the Philippines during the past. Other countries that are beginning
to show significant increase in production include Afghanistan, Sri Lanka, Indonesia, Iran, Kenya
and Thailand. There are other countries like Tunisia and Turkey who have witnessed great increase
in production.

The author thinks that through ‘The Green Revolution” :

(1) nothing has been achieved

(2) a great deal has been achieved

(3) the food problem in the developing countries has been completely solved
(4) the gap between the rich and the poor countries has widened

[Question ID = 152][Question Description = S7_English Content/Pedagogy_Q092]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

3)



Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options.

The term "The Green Revolution” has beenused by the popular press to describe the spectacular
increase in cereal - grain production during the past years. Perhaps the term “green revolution’. as
commonly used is premature, too optimistic, or too broad in scope. Too often it seems to convey
the impression of a green revolution in yields per hectare and in total production of all crops
throughout vast areas comprising many countries. Sometimes it also implies that all farmers are
uniformly benefited by the breakthrough in production.

These implications both oversimplify and distort the facts. The only crops which have been
appreciably affected upto the present time are wheat, rice and maize. Yields of their important
cereals, such as sorghums, millets and barley, have been only slightly affected ; nor has there been
any appreciable increase in yield or production of the pulses or legume crops which are essential in
the diets of cereal - consuming populations. Morever it must be emphasized that thus far the great
increase in production has been in irrigated areas. Nor have all cereal farmers in the irrigated areas
adopted and benefited from the use of the new seeds and the technology. Nevertheless, the number
of farmers small as well as large who are adopting the new seeds and new technology is increasing
very rapidly, and the increase in numbers during the past has been phenomenal. Cereal production
in the rainted areas still remains relatively unaffected by the impact of the green revolution, but
significant change and progress are now becoming evident in several countries.

Despite these qualifications, however tremendous progress has been made in increasing cereal
production in India, Pakistan, and the Philippines during the past. Other countries that are beginning
to show significant increase in production include Afghanistan, Sri Lanka, Indonesia, Iran, Kenya
and Thailand. There are other countries like Tunisia and Turkey who have witnessed great increase
in production.

The countries which have benefited most from The Green Revolution are :
(1) Indonesia Iran

(2) Thailand and Tunisia

(3) India, Pakistan and the Philippines

(4) Sri Lanka and Afghanistan

[Question ID = 153][Question Description = S7_English Content/Pedagogy_Q093]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

4)



Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options.

The term "The Green Revolution” has beenused by the popular press to describe the spectacular
increase in cereal - grain production during the past years. Perhaps the term “green revolution’. as
commonly used is premature, too optimistic, or too broad in scope. Too often it seems to convey
the impression of a green revolution in yields per hectare and in total production of all crops

throughout vast areas comprising many countries. Sometimes it also implies that all farmers are
uniformly benefited by the breakthrough in production.

These implications both oversimplify and distort the facts. The only crops which have been
appreciably affected upto the present time are wheat, rice and maize. Yields of their important
cereals, such as sorghums, millets and barley, have been only slightly affected ; nor has there been
any appreciable increase in yield or production of the pulses or legume crops which are essential in
the diets of cereal - consuming populations. Morever it must be emphasized that thus far the great
increase in production has been in irrigated areas. Nor have all cereal farmers in the irrigated areas
adopted and benefited from the use of the new seeds and the technology. Nevertheless, the number
of farmers small as well as large who are adopting the new seeds and new technology is increasing
very rapidly, and the increase in numbers during the past has been phenomenal. Cereal production
in the rainted areas still remains relatively unaffected by the impact of the green revolution, but
significant change and progress are now becoming evident in several countries.

Despite these qualifications, however tremendous progress has been made in increasing cereal
production in India, Pakistan, and the Philippines during the past. Other countries that are beginning
to show significant increase in production include Afghanistan, Sri Lanka, Indonesia, Iran, Kenya
and Thailand. There are other countries like Tunisia and Turkey who have witnessed great increase
in production.

The Green Revolution has considerably increased the production of :
(1) Millets
(2) Barley
(3) Wheat and Rice
(4) Sorghums
[Question ID = 154][Question Description = S7_English Content/Pedagogy_Q094]
. 1 [Option ID = 613]
. 2 [Option ID = 614]

1
2

3. 3 [Option ID = 615]
4. 4 [Option ID = 616]

5)



Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options.

The term ‘The Green Revolution’ has beenused by the popular press to describe the spectacular
increase in cereal - grain production during the past years. Perhaps the term ‘green revolution’. as
commonly used is premature, too optimistic, or too broad in scope. Too often it seems to convey
the impression of a green revolution in yields per hectare and in total production of all crops
throughout vast areas comprising many countries. Sometimes it also implies that all farmers are
uniformly benefited by the breakthrough in production.

These implications both oversimplify and distort the facts. The only crops which have been
appreciably affected upto the present time are wheat, rice and maize. Yields of their important
cereals, such as sorghums, millets and barley, have been only slightly affected ; nor has there been
any appreciable increase in yield or production of the pulses or legume crops which are essential in
the diets of cereal - consuming populations. Morever it must be emphasized that thus far the great
increase in production has been in irrigated areas. Nor have all cereal farmers in the irrigated areas
adopted and benefited from the use of the new seeds and the technology. Nevertheless, the number
of farmers small as well as large who are adopting the new seeds and new technology is increasing
very rapidly, and the increase in numbers during the past has been phenomenal. Cereal production
in the rainted areas still remains relatively unaffected by the impact of the green revolution, but
significant change and progress are now becoming evident in several countries.

Despite these qualifications, however tremendous progress has been made in increasing cereal
production in India, Pakistan, and the Philippines during the past. Other countries that are beginning
to show significant increase in production include Afghanistan, Sri Lanka, Indonesia, Iran, Kenya
and Thailand. There are other countries like Tunisia and Turkey who have witnessed great increase
in production.

Cereal production still remains :
(1) Unaffected by the impact of the Green Revolution

(2) Confined to the technologically advanced countries
(3) Almost negligible in only a few countries
(4) Law in the hilly areas

[Question ID = 155][Question Description = S7_English Content/Pedagogy_Q095]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]

6)



Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options.

The term "The Green Revolution” has beenused by the popular press to describe the spectacular
increase in cereal - grain production during the past years. Perhaps the term “green revolution’. as
commonly used is premature, too optimistic, or too broad in scope. Too often it seems to convey
the impression of a green revolution in yields per hectare and in total production of all crops

throughout vast areas comprising many countries. Sometimes it also implies that all farmers are
uniformly benefited by the breakthrough in production.

These implications both oversimplify and distort the facts. The only crops which have been
appreciably affected upto the present time are wheat, rice and maize. Yields of their important
cereals, such as sorghums, millets and barley, have been only slightly affected ; nor has there been
any appreciable increase in yield or production of the pulses or legume crops which are essential in
the diets of cereal - consuming populations. Morever it must be emphasized that thus far the great
increase in production has been in irrigated areas. Nor have all cereal farmers in the irrigated areas
adopted and benefited from the use of the new seeds and the technology. Nevertheless, the number
of farmers small as well as large who are adopting the new seeds and new technology is increasing
very rapidly, and the increase in numbers during the past has been phenomenal. Cereal production
in the rainted areas still remains relatively unaffected by the impact of the green revolution, but
significant change and progress are now becoming evident in several countries.

Despite these qualifications, however tremendous progress has been made in increasing cereal
production in India, Pakistan, and the Philippines during the past. Other countries that are beginning
to show significant increase in production include Afghanistan, Sri Lanka, Indonesia, Iran, Kenya
and Thailand. There are other countries like Tunisia and Turkey who have witnessed great increase
in production.

Choose the synonym of the word ‘appraisal” :

(1) Assessment

(2) Examination

(3) Scrutiny

(4) Investigation
[Question ID = 156][Question Description = S7_English Content/Pedagogy_Q096]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]

3. 3 [Option ID = 623]
4. 4 [Option ID = 624]

7)



Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options.

The term "The Green Revolution” has beenused by the popular press to describe the spectacular
increase in cereal - grain production during the past years. Perhaps the term “green revolution’. as
commonly used is premature, too optimistic, or too broad in scope. Too often it seems to convey
the impression of a green revolution in yields per hectare and in total production of all crops

throughout vast areas comprising many countries. Sometimes it also implies that all farmers are
uniformly benefited by the breakthrough in production.

These implications both oversimplify and distort the facts. The only crops which have been
appreciably affected upto the present time are wheat, rice and maize. Yields of their important
cereals, such as sorghums, millets and barley, have been only slightly affected ; nor has there been
any appreciable increase in yield or production of the pulses or legume crops which are essential in
the diets of cereal - consuming populations. Morever it must be emphasized that thus far the great
increase in production has been in irrigated areas. Nor have all cereal farmers in the irrigated areas
adopted and benefited from the use of the new seeds and the technology. Nevertheless, the number
of farmers small as well as large who are adopting the new seeds and new technology is increasing
very rapidly, and the increase in numbers during the past has been phenomenal. Cereal production
in the rainted areas still remains relatively unaffected by the impact of the green revolution, but
significant change and progress are now becoming evident in several countries.

Despite these qualifications, however tremendous progress has been made in increasing cereal
production in India, Pakistan, and the Philippines during the past. Other countries that are beginning
to show significant increase in production include Afghanistan, Sri Lanka, Indonesia, Iran, Kenya
and Thailand. There are other countries like Tunisia and Turkey who have witnessed great increase
in production.

What is the antonym of the word ‘affluent” ?

(1) Miserly
(2) Poor
(3) Needy

(4) Mysterious

[Question ID = 157][Question Description = S7_English Content/Pedagogy_Q097]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]

8)



Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options.

The term "The Green Revolution” has beenused by the popular press to describe the spectacular
increase in cereal - grain production during the past years. Perhaps the term “green revolution’. as
commonly used is premature, too optimistic, or too broad in scope. Too often it seems to convey
the impression of a green revolution in yields per hectare and in total production of all crops

throughout vast areas comprising many countries. Sometimes it also implies that all farmers are
uniformly benefited by the breakthrough in production.

These implications both oversimplify and distort the facts. The only crops which have been
appreciably affected upto the present time are wheat, rice and maize. Yields of their important
cereals, such as sorghums, millets and barley, have been only slightly affected ; nor has there been
any appreciable increase in yield or production of the pulses or legume crops which are essential in
the diets of cereal - consuming populations. Morever it must be emphasized that thus far the great
increase in production has been in irrigated areas. Nor have all cereal farmers in the irrigated areas
adopted and benefited from the use of the new seeds and the technology. Nevertheless, the number
of farmers small as well as large who are adopting the new seeds and new technology is increasing
very rapidly, and the increase in numbers during the past has been phenomenal. Cereal production
in the rainted areas still remains relatively unaffected by the impact of the green revolution, but
significant change and progress are now becoming evident in several countries.

Despite these qualifications, however tremendous progress has been made in increasing cereal
production in India, Pakistan, and the Philippines during the past. Other countries that are beginning
to show significant increase in production include Afghanistan, Sri Lanka, Indonesia, Iran, Kenya
and Thailand. There are other countries like Tunisia and Turkey who have witnessed great increase
in production.

Study the following statements :
(@) Green revolution has reached Turkey and Tunisia.
(b) Rains have helped the spread of green revolution.
(1
(
(

(a) is right and (b) is wrong.

)
2)  (b) is right and (a) is wrong.
3) Both (a) and (b) are right.
(4) Both (a) and (b) are wrong

[Question ID = 158][Question Description = S7_English Content/Pedagogy_Q098]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]

9)



Read the passage given below and answer the question that follow by selecting the
correct/most appropriate options.

The term "The Green Revolution” has beenused by the popular press to describe the spectacular
increase in cereal - grain production during the past years. Perhaps the term “green revolution’. as
commonly used is premature, too optimistic, or too broad in scope. Too often it seems to convey
the impression of a green revolution in yields per hectare and in total production of all crops

throughout vast areas comprising many countries. Sometimes it also implies that all farmers are
uniformly benefited by the breakthrough in production.

These implications both oversimplify and distort the facts. The only crops which have been
appreciably affected upto the present time are wheat, rice and maize. Yields of their important
cereals, such as sorghums, millets and barley, have been only slightly affected ; nor has there been
any appreciable increase in yield or production of the pulses or legume crops which are essential in
the diets of cereal - consuming populations. Morever it must be emphasized that thus far the great
increase in production has been in irrigated areas. Nor have all cereal farmers in the irrigated areas
adopted and benefited from the use of the new seeds and the technology. Nevertheless, the number
of farmers small as well as large who are adopting the new seeds and new technology is increasing
very rapidly, and the increase in numbers during the past has been phenomenal. Cereal production
in the rainted areas still remains relatively unaffected by the impact of the green revolution, but
significant change and progress are now becoming evident in several countries.

Despite these qua]jﬁcations, however tremendous progress has been made in increasing cereal
production in India, Pakistan, and the Philippines during the past. Other countries that are beginning
to show significant increase in production include Afghanistan, Sri Lanka, Indonesia, Iran, Kenya
and Thailand. There are other countries like Tunisia and Turkey who have witnessed great increase
in production.

The Green Revolution is a world - wide
(1) Happening

(2) Phenomenon

(3) Process

(4) Requirement

[Question ID = 159][Question Description = S7_English Content/Pedagogy_Q099]

1
2
3.
4

. 1 [Option ID = 633]
. 2 [Option ID = 634]
3 [Option ID = 635]
. 4 [Option ID = 636]

Topic:- ENG_Q100-105_L1_P2_CTET

1)



Read the extract given below and answer the question that follow by selecting correct /most
appropriate options.

The polar DEW has just warned that
A nuclear rocket strike of

Atleast one thousand megatons

Has been launched by the enemy
Directly at our major cities.

This announcement will take

Two and a quarter minutes to make,
You there fore have further

Eight and a quarter minutes

To comply with the shelter
Requirements published in the civil
Defence code-section Atomic Attack
A specially shortened Mass

Will be broadcast at the end

of this announcement

Protestant and Jewish services.

The poem presents a/the :

(1) warning to the public.

(2) response to a nuclear attack that has just begun.

(3) confusion created after the warning is announced.

(4) precautions people ought to take in the wake of nuclear attack.

[Question ID = 160][Question Description = S7_English Content/Pedagogy_Q100]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]

2)



Read the extract given below and answer the question that follow by selecting correct /most
appropriate options.

The polar DEW has just warned that
A nuclear rocket strike of

Atleast one thousand megatons

Has been launched by the enemy
Directly at our major cities.

This announcement will take

Two and a quarter minutes to make,
You there fore have further

Eight and a quarter minutes

To comply with the shelter
Requirements published in the civil
Defence code-section Atomic Attack
A specially shortened Mass

Will be broadcast at the end

of this announcement

Protestant and Jewish services.

‘One thousand megatons’ points to the :

(1) most dreadful nuclear weapons used in the modern warfare.
(2) holocast it will cause.

(3) devastation the cities would suffer.

(4) heartlessness of the enemy.

[Question ID = 161][Question Description = S7_English Content/Pedagogy_Q101]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

3)



Read the extract given below and answer the question that follow by selecting correct /most
appropriate options.

The polar DEW has just warned that
A nuclear rocket strike of

Atleast one thousand megatons

Has been launched by the enemy
Directly at our major cities.

This announcement will take

Two and a quarter minutes to make,
You there fore have further

Eight and a quarter minutes

To comply with the shelter
Requirements published in the civil
Defence code-section Atomic Attack
A specially shortened Mass

Will be broadcast at the end

of this announcement

Protestant and Jewish services.

The poem is an indirect of the present state of political polarization.
(1) warning
(2) show of horrors
(3) indictment
(4) caution
[Question ID = 162][Question Description = S7_English Content/Pedagogy_Q102]
. 1 [Option ID = 645]
. 2 [Option ID = 646]

1
2
3. 3 [Option ID = 647]
4. 4 [Option ID = 648]

4)



Read the extract given below and answer the question that follow by selecting correct /most
appropriate options.

The polar DEW has just warned that
A nuclear rocket strike of

Atleast one thousand megatons

Has been launched by the enemy
Directly at our major cities.

This announcement will take

Two and a quarter minutes to make,
You there fore have further

Eight and a quarter minutes

To comply with the shelter
Requirements published in the civil
Defence code-section Atomic Attack
A specially shortened Mass

Will be broadcast at the end

of this announcement

Protestant and Jewish services.

‘Polar DEW’ refers to the :

(1) Army Broadcasting system

(2) Satellite based warning system

(3) Airports and Railways Announcement Agency
(4) Secret organ of the public sound system

[Question ID = 163][Question Description = S7_English Content/Pedagogy_Q103]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4[Option ID = 652]

3)



Read the extract given below and answer the question that follow by selecting correct /most
appropriate options.

The polar DEW has just warned that
A nuclear rocket strike of

Atleast one thousand megatons

Has been launched by the enemy
Directly at our major cities.

This announcement will take

Two and a quarter minutes to make,
You there fore have further

Eight and a quarter minutes

To comply with the shelter
Requirements published in the civil
Defence code-section Atomic Attack
A specially shortened Mass

Will be broadcast at the end

of this announcement

Protestant and Jewish services.

Which places can become the target of the attack ?
(1) Villages
(2) Markets
(3) Hill Stations
(4) Capital Cities
[Question ID = 164][Question Description = S7_English Content/Pedagogy_Q104]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]

3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

6)



Read the extract given below and answer the question that follow by selecting correct /most
appropriate options.

The polar DEW has just warned that
A nuclear rocket strike of

Atleast one thousand megatons

Has been launched by the enemy
Directly at our major cities.

This announcement will take

Two and a quarter minutes to make,
You there fore have further

Eight and a quarter minutes

To comply with the shelter
Requirements published in the civil
Defence code-section Atomic Attack
A specially shortened Mass

Will be broadcast at the end

of this announcement

Protestant and Jewish services.

How much time is allowed to the public to reach the shelters ?
(1) Two and quarter minutes

(2) Eight and quarter minutes

(3) Half an hour

(4)

[Question ID = 165][Question Description = S7_English Content/Pedagogy_Q105]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

As recorded in the Defence code

Topic:- ENG_Q106-120_L1_P2_CTET

" Which of the following are the receptive skills ?

(1) Listening and speaking

(2) Listening and Reading

(3) Speaking and Writing

(4) Discourse skills
[Question ID = 166][Question Description = S7_English Content/Pedagogy_Q106]
. 1 [Option ID = 661]
. 2 [Option ID = 662]

1
2

3. 3 [Option ID = 663]
4. 4 [Option ID = 664]

2)



Which of the following is/are true from the current language learning perspective ?

(A_) Listening, speaking, reading, writing, noticing and thinking develop in a linear
manner.

ox)
—

Listening, speaking and reading develop first following by writing,.

Writing is the last skills to be developed by learners in learning a language.
Listening, speaking, reading, writing, noticing and thinking develop simultaneously.
(B) is true

(C) is true.

(D) is true.

(A) is true.
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[Question ID = 167][Question Description = S7_English Content/Pedagogy_Q107]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

*) What does it means to say, ‘Reading is meaning making’ ?

(1) Reading begins from learning phonics, sound cluster, words and sentences.
(2) Reading is understanding and comprehending the ideas of the text read.
(3) Reading should make learner to assign different meaning to the text read.

(4) Reading is decoding of letters of the alphabet and words of the text read.

[Question ID = 168][Question Description = S7_English Content/Pedagogy_Q108]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

4)

A teacher of class V divides her class into groups of five and assign them themes and
topics for collecting ideas, interviewing people on various aspects and interpret them and
write a report based on the data collection and the interpretation. What is this known
as ?

(1) Assignment

(2) Project work

(3) Thematic approach to teaching

(4) Learning vocabulary

(B

[Question ID = 169][Question Description = S7_English Content/Pedagogy_Q109]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

%) What is the status accorded to English language in the Indian constitution ?

(1) Co-official language

(2) One of the recognized languages
(3) Second language in education
(4) Associate Official language



[Question ID = 170][Question Description = S7_English Content/Pedagogy_Q110]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]

6)

Which one of the following is a while-reading task ?

(1) Teacher discusses the ideas of the text beforehand with learners as a whole class
activity

(2) Learners are asked to assume they are one of the characters in the story and to write
their experience in their diary

(3) Teacher reads the text silently at home and come prepared for teaching the same in
the class

(4) The class is divided into groups of four and the text is read by taking turns. Teacher
facilitates children to decode the text with comprehension.

[Question ID = 171][Question Description = S7_English Content/Pedagogy_Q111]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]

/) Language is :
(1) asystem of systems.

(2) a grammar system.
(3) an scientific system.
(4) social institution.

[Question ID = 172][Question Description = S7_English Content/Pedagogy_Q112]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

) Teaching grammatical aspect of language through form based approach is to acquire :

(1) Procedural knowledge
(2) Declarative knowledge
(3) Content knowledge

(4) Object knowledge

[Question ID = 173][Question Description = S7_English Content/Pedagogy_Q113]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]



?) Which of the following are true of the purposes of assessment ?

(A) Assessment is for informing the learners what has been learnt.

(B) Assessment is for knowing what the learner has not learnt.

(C) Assessment is for informing the learner where she stands in the class.
(D) Assessment is for grading the learners to promote to the higher class.
(1) (A) and (C) are true

(2) (A) and (B) are true

(3) (B) and (C) are true

(4) (D) and (B) are true

[Question ID = 174][Question Description = S7_English Content/Pedagogy_Q114]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

' National Education Policy (NEP) 2020 recommends the study of classical languages :

(1) under three language formula
(2) from early stages of schooling
(3) as an additional option at the secondary stage
(4) as a language for all children from primary stage
[Question ID = 175][Question Description = S7_English Content/Pedagogy_Q115]
. 1 [Option ID = 697]
. 2 [Option ID = 698]

1
2
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

" Which one of the following is NOT correct about teaching grammar effectively ?

(1) Present the form in genuine communication.

(2)  Elicit relevant rules of grammar in contexts.
(3) Provide the form in practice in real life-like communication.
(4) Learn grammar by memorising its rule and through drills.

[Question ID = 176][Question Description = S7_English Content/Pedagogy_Q116]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

') Retelling a story read by student in his/her own words helps in assessing :

(1) Accuracy

(2) Fluency

(3) Comprehension
(4) Memory

[Question ID = 177][Question Description = S7_English Content/Pedagogy_Q117]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]



13)

In learning a language errors committed by students :
(1
(2
(

(4) provide negative reinforcement to learners.

helps in learning,

e S

are hindrance in learning.

(%]

) increases the load of correction work.

[Question ID = 178][Question Description = S7_English Content/Pedagogy_Q118]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

14)

A good speaking activity is the one where :

(1 teachers talk more.

I

]

learners talk more.
) participation is uneven.

H_‘-.F“:\J.H_‘\.

4)  Participation by outspoken students is maximum.

[Question ID = 179][Question Description = S7_English Content/Pedagogy_Q119]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

15)

Language acquisition means :

(1) Learning the rules of grammar of language.

(2) Learning a language unconsciously in informal setting,
(3) Learning a language consciously in formal setting.

(4) Learning about a language.

[Question ID = 180][Question Description = S7_English Content/Pedagogy_Q120]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]

Topic:- HIN_Q121-128_L2_P2_CTET

1)
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1. 1 [Option ID = 1173]



2. 2 [Option ID = 1174]
3. 3 [Option ID = 1175]
4. 4 [Option ID = 1176]

) Freferfea § 4 FE-d qron o fae F e §2
(1) Tt arafas feafe@i § wam 30 F SR % mem 8§ o e s €
) Toreneff =t wem e sifere § wewqul yfires fard &
(3) e foreqor wiwoeReR nfafafir w Hfa & aifee

(4) e foreTon H Sie % TUM W W@ & "ol fean s =ifen

[Question ID = 295][Question Description = S7_Hindi Content/Pedagogy_Q145]
1. 1 [Option ID = 1177]
2. 2 [Option ID = 1178]
3. 3 [Option ID = 1179]
4. 4 [Option ID = 1180]

11) a 5 e ; _
‘el ¥ oy’ § ged: Ry W SR fean s =nfew 2
(1) 190 o 99 SATHEE FH W
(2) W% e e i W
(3) Tauarasg &1 SA9a8 4 W
(4) Tradl = SAfEERiET i W

[Question ID = 296][Question Description = S7_Hindi Content/Pedagogy_Q146]

1. 1 [Option ID = 1181]

2. 2 [Option ID = 1182]

3. 3 [Option ID = 1183]
4. 4 [Option ID = 1184]

" ffaten § A SR gEE T § s R R § vl e
(1) wreifuores Fewo § =41 &) 9%gd
(2) e H =T ok g el @ et
(3) Arfees Sied S Hag gRI FaHl 1 319919 T o Hish &l
(4) Tl i Few Fh a9 fea gR1 AR HiEH]
1[Q:J«E=3tit<_>n |Ig =1219857]][Question Description = S7_Hindi Content/Pedagogy_Q147]
2. 2 [Option D - 1136}

3. 3 [Option ID = 1187]
4. 4 [Option ID = 1188]

P frefated § § SE-w T TeEE S 2005 % wty rieds fagrd | e w69 82
(1) Tomnerg % <@L % S I FH 6 QY Sie |
) = gfifad we & sifamy seweiem w snufia 78 2
(3) WIBAYES hiwd B % TH W=l & WAy forerr & Ty W= i §s
(4) T AgEw s i i @ frafe s

[Question ID = 298][Question Description = S7_Hindi Content/Pedagogy_Q148]



1. 1 [Option ID = 1189]
2. 2 [Option ID = 1190]
3. 3 [Option ID = 1191]
4. 4 [Option ID = 1192]

14)

IS = 1 STRe il Ll & 2

(1) 7% v & o fore £ sen s o6 waifues o= S99 S w §
(2) F=i1 % diwH § FiEE & v o F

(3) SR 1 370 A H AR fohy T SR S, ¥ A S o

(4) = F G LS ¥ gor wA & fag

[Question ID = 299][Question Description = S7_Hindi Content/Pedagogy_Q149]
1. 1 [Option ID = 1193]
2. 2 [Option ID = 1194]
3. 3 [Option ID = 1195]
4. 4 [Option ID = 1196]

15)

eI U Y[2] 1 GEIE e ¥ e e % fe et awgel 1 Sy S @) 3
T F Fear &2

(1) Toraor fafemt

) Toreor Zfamr

(3) feer

(4) dmfee ST

[Question ID = 300][Question Description = S7_Hindi Content/Pedagogy_Q150]
1. 1 [Option ID = 1197]
2. 2 [Option ID = 1198]
3. 3 [Option ID = 1199]
4. 4 [Option ID = 1200]






